Find sin s
Cot s = -1 / 3, s in quadrant IV
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Verify each trig equation is an identity

[image: image3.wmf]Q

Q

=

Q

+

Q

Q

+

Q

csc

cot

sin

tan

cot

csc



[image: image4.wmf]Q

+

Q

Q

Q

=

Q

+

Q

-

tan²

tan

2sec

-

²

sec

sin

1

sin

1


 
[image: image5.wmf]Q

Q

-

Q

+

Q

Q

-

Q

=

Q

+

Q

cos

sin

1

cos

sin

cos

1

sin

cos

sin


Write each function value in terms of the co function of a complementary angle.
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Find an angle Θ that makes each statement true
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Find cos(s+t) and cos(s-t)
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